Canyou “edit” the lengths of the film clip times below to make a 60 minute long
“Gogglebox” episode?

What is the problem you need to solve?
You have been sent 5 film clips of different lengths of time to turn into 1 episode of “Gogglebox”. The problem is, currently if you add the time together from
these 5 film clips, the programme length would be too long to fit into the 60-minute timeslot Channel 4 have available to show it on TV.

What you need to do is:

“Edit” which means cut the length of time of the 5 film clips so that the total time adds up to 60 minutes.

You can do this by speeding up the clips. The speeds you can increase each clip by are written in the boxes. Write down the new times for these clips in the
boxes and add all 5 clip times together to check you have not exceeded 60 minutes in total.

12 minutes 26 minutes 40 minutes 100 minutes 4 minutes 30 seconds
Increase speed by 300% Increase speed by 200% Increase speed by 250% Increase speed by 400% Increase speed by 225%
NEW TIME: NEW TIME: NEW TIME: NEW TIME: NEW TIME:
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